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o
A person travelled from station A to station B at 40 km/hr and from B to A at
30 km/hr. The entire journey took 6.3 hours. What is the distance (In km )
between A and B?
Teh oo o T¢I A T T2 B deh 40 km/h 3R B & A T 30 km/h hr Tl
T gl T AT T I H 39 6.3 T 91 | A 3R B & i<l gl (km &) fohetait
g? (SSC CPO 2019)

(a)117

01:000E

(c) 91
(d) 99
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A boy goes to school at 4.5km/hr and return at a speed of 7. 5km/hr If he
takes 144 minutes in all. Find the distance from his village to school?

Ueh oIShT 4.5 TohAT / ©CT ol 31T H TaeaTerd SITdT & 3R 7.5 TohAT / TeT ol aTid

& dliear &1 afE 30 ol AT 7 144 fAe oo O 38 =W § Regrer & g
AT I ?

(SSC CGL 2018)

a) 7.75 km
0)7.25 km
C) 6.25 km
» d)6.75 km

01:00




speeds of 90 km/h and 70 km/respectively. When they meet, it is found the one train has
travelled 140 km more than the other. What is the distance (in km) between the two

stations?
&l ¢l Ueh g1 THT W & 31Tel-37e1eT TCRAT F I F FIcl & IR FALM: 90 km/h 3R 70
km/h & a1l & u%%ﬁ $r 3R Fodl &1 I § FeIdT &, 99 dF TH T & 140 km 310

AT Y ofl il g | EEAAT & & <y gt (km # ) AT FfSA?

(SSC CGL 2020)
(a) 980
(b) 1100
(c) 1200

» (d) 1120

01:00
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Two trains start at the same time from Aligarh and Delhi and proceed towards each other
at the rate of 85 km and 110 km per hour respectively. When they meet, it is found that
one train has travelled 225 km more than the other. The distance between two station is:

&l ol Ueh 8 AT TN 3eliere 3R feeell & & gl & 3R haer: 85 fohdll 3 110 foralt ufa
H¢ &l aT U Ueh g@Y 1 3N Fadl ¢ | 59 d fHeld §, dl 9T Teldl § T Teh ¢of o g@x &
JoleTT H 225 TohaAT 3178 AT HT & | & T/ o &I I gl & ?2(SSC CGL 2018)

»» (a) 1755
(b) 1560
(C) 2145
(d) 1950

01:00
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Distance between A & B is 660km. From point A, two persons start their journey with
speed 70 km/hr. and 98 km/hr. respectively at same time. When faster person reaches
at point B then return and meet slower person at C on the way. Find distance between

BC.
A 3R B & &1 1 gl 660 fhaY 5| &f cTfed 9=l ATAT Teh g1 AT W hA: 70 fohreAl/ae

30T 98 feheAl/Eie T =Tel & g A & RF A & ST Al Foled dTell AT g B W
Tl & e dlled AT Td A g C W YR Telel arel Fidd H fAAAT g1 d BC & &I
$T g1 A FIFAT? (SSC CGL 2017)

» a) 110 km
m b)165km
c) 55 km

d) 220 km
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Two person P & Q start walking from A towards B. Distance between A & B is 60 km.
Speed of P is 4 km/h less than that of Q. After reaching at B person Q returns

iImmediately to A then person Q meets person P at the distance of 12 km from B. What is
speed of P?

I AfFd P & Q, AW B T 31X kAT YE FXd & A 3R B & &1 b1 g1 60 fhall &1 P T a1fey
Q &I JoreAT # 4 Tohell / €T %A B safFd W SRR $ 916 Q Rd AR dlecdT g1 Q dd
AFIPAB Y 12 e A gQ W P & e | PR arfy Far g2

» (a) 8 Km/hr

mm (b) 12Km/hr
(c) 16 Km/hr
(d) 10 Km/hr
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The distance between station P & Q Is 910 km. Two persons A and B start their
journey from P & Q respectively in the morning 10 O'clock towards each other. The

speed of B is 16.66% more than A. At the point of meeting, find the difference between
the distance covered by them.

T2 P 3R Q & & &1 gt 910 fhaT §1 & cafed A 31X B saer: P 31 Q ¥ qaTesT 10
STol Teh-G@ T 3R el 3Tell ATAT TR hld | B & 31T A T JoI=lT H 16.66% 31T
&1 Teh g A AT UX 3eTeh GaRT & T 315 GdT o &I ahl 37} ATl hi?

(SSC CGL 2018)

a)90km

01:00 0)130km

» ¢) 70 km
d) 110km
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A and B started their journey from X to Y and Y to X, respectlvely After crossmg each
other, A and B completed the remaining parts of their journey in 6§ h and 8 h respectively.
If the speed of B is 28 km/h, then the speed (in km/h) of Ais :

A 3 B o ShHI: x@rvsﬂwvﬁrxama?rm?ﬁwwa?n Teh GEX ! IR &l & 971G, A

3T B o 3196AT AT o AW REAT Sl hA: 6 EI?'3-ﬁT8EIé'ZﬁTCITFﬁwTITI gfe B &hr a1fa 28
forefT / ger g, ar A 1 arfa (fepaT / &en) &:
(SSC CGL MAINS 2018)

»» (a) 36
(b) 32
(c) 42

01.00 o




